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Work	
  for	
  the	
  Next	
  Simula0on	
  

50	
  MeV	
  Neutron	
  Energy	
  (CFD)	
  

Examine:	
  
­ Time	
  resolu0on	
  
­ Posi0on	
  resolu0on.	
  
Simula0on	
  to	
  be	
  done	
  for:	
  
¤ L1	
  =	
  100	
  cm	
  
¤ L2	
  =	
  100	
  cm	
  

300	
  MeV	
  Neutron	
  Energy	
  (CFD)	
  

Examine:	
  
­ Time	
  resolu0on	
  
­ Posi0on	
  resolu0on.	
  
Simula0on	
  to	
  be	
  done	
  for:	
  
¤ L1	
  =	
  100	
  cm	
  
¤ L2	
  =	
  100	
  cm	
  

This	
  work	
  involves	
  a	
  study	
  of	
  grouping	
  of	
  hits,	
  signal	
  genera0on,	
  
propaga0on	
  and	
  a_enua0on.	
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tav = 0.5× tsignal1 + tsignal2( )
tav = 7.139− ns
σ av = 0.329− ns

tav = 0.5× tsignal1 + tsignal2( )
tav = 6.628− ns
σ av = 0.157− ns
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